wwwi.ct168.com.tw

s IRE| SLIDE SHAFT

= CRS X0 2
N AN
Bl # = R0
EmESE
BHIME @25mm #2 £ 500mm
04 :
L —
B UNIT : mm
R INMENE BRARERE s s
IMZ D % CRS =2 SMED
(ot um h8 L mm kg/m i
8 CRS 8 0 3000 0.40 8
10 CRS 10 -22 3000 0.62 10
12 CRS 12 3000 0.89 12
15 CRS 15 0 3000 1.39 15
16 CRS 16 -27 3000 1.58 16
18 CRS 18 3000 2.00 18
20 CRS 20 3000 247 20
25 CRS 25 e 3000 3.85 25
30 CRS 30 3000 5.55 30
35 CRS 35 3000 7.55 35
40 CRS 40 0 3000 9.87 40
45 CRS 45 =) 3000 12.49 45
50 CRS 50 3000 1541 50
55 CRS 55 3000 18.65 55
60 CRS 60 3000 22.20 60
65 CRS 65 0 3000 26.05 65
70 CRS 70 -46 3000 30.21 70
75 CRS 75 3000 34.68 75
80 CRS 80 3000 39.46 80
90 CRS 90 3000 49.94 90
100 CRS 100 _‘534 3000 61.66 100
120 CRS 120 3000 88.78 120
150 CRS 150 _23 6000 139.00 150
fea: LA ERIREHRBE  EERERTUBRERSE -
www.ct168.com.tw

_ RREFEBIRAT TEL : 04-24931318 FAX : 04-24931328
CHUN TAITECHNOLOGY LTD. BB ABEmEEHL72226835%




wwwi.ct168.com.tw

s IRE| SLIDE SHAFT

m SCF XX
< [H] 8E £ 5l /0
M BhE(SUI2) SMNE FEIE SR (CR)
FBE - HRC62 +2
FREKEE :04RallF

EREY
IME F25mm 2 £ 500mm
04 G
L
EEf7 UNIT : mm
A@D NEAE | BANGEE | ANBLERE T
= AI%E SFR AR
mm um g6 L mm mm kg/m
3 SFR 3 400 0.06 M 3
4 SFR 4 4 400 0.10 LM 4
5 SFR 5 -12 2000 0.16 LM 5
6 SFR 6 3000 0.23 LM 6
15 LLE
8 SFR 8 5 3000 0.40 LM 8
10 SFR 10 -14 4000 0.62 LM 10
12 SFR 12 6000 0.89 LM 12
13 SFR 13 6 6000 105 LM 13
15 SFR 15 17 6000 158 -
16 SFR 16 6000 247 LM 16
20 BLE
20 SFR 20 6000 3.85 LM 20
25 SFR 25 T 6000 5.55 LM 25
30 SFR 30 6000 7.55 LM 30
25 LIE
35 SFR 35 6000 9.87 LM 35
40 SFR 40 _'295 6000 1541 LM 40
50 SFR 50 6000 22.20 LM 50
60 SFR 60 10 6000 oL 3946 LM 60
80 SFR 80 -29 6000 6166 LM 80
100 SFR 100 :gi 6000 LM 100
figet: LA EAREMSE  FEABRSTUEEESRSE -
www.ct168.com.tw
- N —
2R FRAREAT TEL : 04-24931318 FAX : 04-24931328

CHUN TAI TECHNOLOGY LTD. APBAEMREHLT2Z26E35




wwwi.ct168.com.tw

s IRE| SLIDE SHAFT

m SCFH X%
EARER O (Z200EH)
W SEEB(SUJ2)

RS - HRC62 +2
EEIERE - 0.4RallT

EmER

'SNT25 X 500L

#lHME F25mm ##H2 & 500mm
04 G
10
(&)
NI
VA
— L —
EA7 UNIT : mm
SE D A7 d . YN BAREEE | ANBLEERE 2 S D
I A um hé L mm mm kg/m mm
10 4 SNT 10 0~-9 1000 1.2 0.52 10
12 4 SNT 12 0~-11 2000 13 079 12
13 5 SNT 13 0~-11 2000 13 0.82 13
16 7 SNT 16 Bree=d 4000 16 1.28 16
20 14 SNT 20 0~-13 5000 1.8 1.25 20
25 15.6 SNT 25 0~-13 5000 2.0 2.35 25
30 183 | SNT 30 0~-13 6000 24 3.50 30
35 22 SNT 35 0~-16 6000 25 490 35
40 28 SNT 40 0~-16 6000 2.6 499 40
50 297 | SNT 50 0~ 16 6000 29 9.91 50
60 36 SNT 60 el 6000 3.0 14.20 60
80 57 SNT 80 0~ 19 6000 3.2 19.43 80
100 65 SNT 100 e -2 6000 e 3561 100
s : A EAREMRSE » FTHEHERTUEERERSE -
www.ct168.com.tw
- N —
2R FRAREAT TEL : 04-24931318 FAX : 04-24931328

CHUN TAI TECHNOLOGY LTD. APBAEMREHLT2Z26E35




wwwi.ct168.com.tw

e 22 B 10 Z2 5] SLIDE SHAFT

= SCFT XX T
SME B4R T F Ei Oy
ME Bl (SUJ2)

W /E : HRC62 +2
FEMEE : 04RallF

iw
—
D

AN
al

R
—
/-To

XN _ % KxP XN
% N: “57""
X K: BIEEE S
B {7 UNIT : mm
- sMEpzE | A B | BFEE| B | NELE| G/ | BAEE
SME D _
mm um g6 P M / d t C L max
16 SFB16 SFRB16 -6 ~-17 150 M5 X 0.8 9 55 25 0.7 4000
20 SFB20 SFRB20 -7 ~-20 150 M6 X1 10 6.5 25 0.7 6000
25 SFB25 SFRB25 -7 ~-20 200 M6 X 1 12 6.5 25 0.7 6000
30 SFB30 SFRB30 -7 ~-20 200 | M8 X 1.25 15 8.5 3.0 1 6000
35 SFB35 SFRB35 -9~-25 200 | M8 X 1.25 15 8.5 3.0 1 6000
40 SFB40 SFRB40 -9~ -25 300 | M8 X1.25 18 8.5 3.0 1 6000
fest: L EHREHRSE  FTEAKRRSTUEEERAE -
www.ct168.com.tw
- | —
RPN AEEAT TEL : 04-24931318 FAX : 04-24931328

CHUN TAI TECHNOLOGY LTD. APBAEMREHLT2Z26E35




www.ct168.com.tw

g /0N TR &8

SLIDE SHAFT

REMNLZER TR

s

= e

il

AN

=
in
I

EE ]
m
ST
M,
|
—r

4 |
b b
A O

/

BERLEWF

rﬁﬁi UNIT : mm

www.ct168.com.tw

R RMRARAT

CHUN TAI TECHNOLOGY LTD.

TEL : 04-24931318 FAX: 04-24931328
APBAETREHL722Z26E3%




